
V1

{Vpsu}

V2

{Vpsu}

SINE(0 {amp/gain} {freq})
Rser=47

Vi C4

220p

R5

50k

R6

1k

R21

1k2

R3

390

Q18

2SA1381C

R25

56

C5

4700µ

C7

470µ

R36

10
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100n

R52

5

C12

33p

M1

ECX10N16
R1

220

M2

ECX10P16

C10

15n

C14

15n

R2

220

R15

22

Q2

KSA1015

R16

820

R17

135

C1

15p

C11

15p

C13

50µ

R18

220

C2

5p

C21

100n

C23

470µ

C25

470µ

C26

470µ

L1

1µ5

R22

4

1N4148

D7D8

1N4148

D9

D10

BZX84C12L
D13

BZX84C12L
D15

C22

2µ

R40

33

R41

33

2SK369BL

Q5

Q6

KSC1845

R7

100

R35

47k

Q3

KSC3503

R4

79

C6

100µ

D6

1N4148

D11

1N4148

R8

100

R10

20k

C15

10p

R12

0.2

R13

20k

D1

RED

D2

D3

2SK369BL

Q1

Q7

KSC1845

R19

100

R20

47k

R24

20k

R9

49

GNDI

G
N

D
I

G
N

D
I

VFB

V
F

B

Vout

Vout

Vout

In+
In

-

+ FC     = 0.5             CJC    = 9.70035E-12     VJC    = 0.523999           
+ MJC    = 0.283255        XCJC   = 0.45            TF     = 1.99E-9            
+ XTB    = 1.182           EG     = 1.1574          XTI    = 3               )

.param Vpsu 42

.meas mag_vin rms V(vin) trig V(vin)=0 rise=2 targ V(vin)=0 rise=3

.meas mag_vout rms V(vout) trig V(vout)=0 rise=2 V(vout)=0 rise=3

.param simtime=(dlycyc+numcyc)/Freq

.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)

.tran 0 {simtime} {dlytime} {numsampl}

MUR460

MUR460

Low Cob

Clead

(-)

(+)

65V Vce

170mA

.STEP TEMP LIST 25 75

KSC3503 7W

LTSpice will calculate the total THD twice: once computing all the harmonics, and secondly computing only the first 4 harmonics. 

Magic resistor
should drop around 200mV over R7

+ A

- K

ECX10P20 Body diode

8.1713272mV

-814.53993mV

795.60509mV

8.1723484mV

41.413929V

40.472896V

39.854097V

42V

-2
84

.4
48

47
m

A
28

3.
57

76
m

A

11.995709mA1.1476005mA

4.
00

37
81

m
A

11.391353V

12.421622V

8.1713272mV

188.82297mV

8.1713272mV

12.053206mA

-30.062865V


